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1) All questions are compulsory.

2) Figures to the right indicate marks.

3) Mlustrations, in-depth answers and diagrams will be appreci
4) Mixing of sub-questions is not allowed.

5) Use of own non-programmable calculator is allowed.

Attempt All(Each of 5Marks)

Multiple choice questions
1. The range of correlation coefficient is ........

N ov- 7]
§ T ptroed ueien o Pm*aul-{i\M\J

Q. P. Code: 12213 -

[Total Marks: 75]

ated.

(15M)

A.0to1 \/1]41 to 1 C.-1t00 D. None of lh{_} above

ii. IfBissubsetof Athen p(A/B)=...ccoovimviivniiii]
A1l B. P(A) . ~ ~CIP(B)

D. None of_ the above

iii.  Inless than type ogive éui've, the points are plotted for

A. the lower boundary and frequency. _
\B the upper boundary and cumulative freqdehcy.

C. the lower boundary and cumulative frequency.

D. None of the above = = = 7 =& aF

iv.  The measure of central tendency which can be used for further

mathematical treatmentis’.... 5. ...
A Mean? 37 5 ¥ .04
A Allthe above -« GF S

™ -'ijeépectixfely then the class mark will be

_ BSO | S C 30 ‘_x \/9(25 ......

Fillintheblanks o aemt VY
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el V If the lower and upper limits of the claés interval are 20 and 30

- .

2\ ’-lnl(\( » by X

n Qj&— sheuld be origidly defiy
EY@I{— Shhould be baie upev
a\\ HAe o, corvahorn .

& BN O Md_dg is the M8 > .occurring value in data set. '
& b %N In histogram the width of the bar will be decided on the basis of
A O ] e C"" lq_S S ! T\"'WM >
‘_;?f_-:.:j e > A iy If the correla tion coefficient between two variables Xand Yis .
8 CAETESE < o O pexfect then'the correlation coefficient r el A Y~
PO S S QivimsFor Y = a + bx, Y is called as dt,’setw{ifgriable.
ROCAIORISIAGON S PR S .
S 3L 5 (90, Shortanswers. -
Jo A B o YO -1 Write two requisites of good measure of central tende
e W O, B ~ii.~-‘_'_ -Define variance. The SMave 0P .. )5 faljed Van Qi .
L"’?‘ =1 Cp\f( U \[J__;a 1ii.-* . Write the formula of regression coefficient of X on Y.,
o 7"" et jv. 7 Define probability.
O X ' - V. Define mutually exclusive events



Q. P. Code: 12213

Marks) (15M) ©
: ar _
Q.2 Attempt the following (Any THREE)(Each of 5 ] scale and ratio scale.
(a) Explain with one example Nominal scale, Ordinal s | : _ §
(b) Write a short note on y 1 . ' = & | .
i.  Frequency polygon.ii. Stem and leaf plo * ¥
(c) Given the following data on the marks obtained by students in eome
examination. _ Bl Ay
22,24,15,25,10,12,14,8, 2,4, P ETITIROP & €& SN,
4,6, 12,14,16,17,18,18,17,14,10,10,8,9,22,21 23,20,18 Y EE 4 » B
Construct frequency distribution with inclusive type class mterval « 1\ PR
(d) Obtain mean and mode for the following data -~ - s _‘ e~ ; e
CI 10-20 [20-30 [30-40_{40-50 [50-60 } 60-7¢ 0-"' N
Frequency | 2 4 S SR TSNS ETORA ok s -":* |
L PN o

(e) Explain the procedure of obtzunmg Quarhle dewahon forgrouped data 4 -F &;rm ;
() Define standard deviation and Find coeffiC1ent of vananon for the M‘“f:":: ail Hae doson e
following dataX:  12,13,14,15,16,12,14, 16,13 15 11412 *‘P"" ;

Q.3  Attempt the following (Any THREE)(Each of 5Marks) Y& SSS (15M)
Define first four raw moments about origin Zero a.nd central moments of a

distribution.Also slate the relatlonshxp between raw and centraI mements
(b)  Explain the concept of skewness. Also d_;shngu.lsh between posmve and

PR SO

Negative skewness PR AT F> 4
(c) With usual netahqn M1 -23 #2- 8,,p3= 14 alid p4-~50 then Compute piand

3"' , 1 .
\

ﬁz. “:} -: J T \‘x . \ ."» x > ;‘ D e
(d) Represent Poahge,Negahve and Pet:fectqorrelat;on usmg scatter plots.

(e) Explain the. conceptof cerrelatlon and” regresswn_' AIsg comment, how

‘\...-I" :\ t --' A.

regress;on&s*“alfferen‘t fmm correfahon R S
(f) For ﬂlefollomngdata obtain theeegmssmnlme oj ﬂ1e type Y on X
S AX S 12 }14 Cqte S {14 s |15 18
AR : ... A ‘,4“,‘_;_.4_-,.‘_‘.?;}; 7.;‘ _:_75';::3 4 3
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Q4 >, A empt the fonowng (A:{y 'I:HREE)(Each of 5Marks) (15M)
ﬂﬂ)_ SuD l‘me the E dllewufg w1ﬂ1 one emmyféu
F -:*1‘“ G“ S 1‘; th‘aﬁdom ExPe:iﬁ1eqt W1th one example.
ot SamBlespage and Eyent wlth one example.
_ ] : A tlcket is drawn, ﬁ-oma box containing 30 tickets and a number on it is

S pb.gayed‘f Obtam the pxc;bablhty that ticket drawn has a number
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S & b WS -ti‘l:,, Have all vowels together.

o Qs 7 i ““Sfate Addlhon theorem and Bay’s theorem.
N e TN oy N4 N
WSS (| NG fa Addition Theorem and Bay’s Theorem.
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Q.5
(a)
(b)
(c)
(d)

(e)

(f)

Q. P. Code: 12213

Two dice are thrown simultaneously. Find the probability that the sum
being 6 or same number on both dice.

A hospital has 3 doctors X,Y&Z operating independently. The probability
that doctor X is available is 0.9 and that for Y is 0.6 and for Z is 0.7; What 1s
the probability that at least one doctor is available when needed?

Attempt the following (Any THREE)(Each of 5Marks) (15M)

Explain the procedure of plotting Bar chart and Pie Chart.
Write two merits and two demerits of the Mode and Coefficient of range.
Define Kurtosis and explain different types of kurtoss. |
Obtain Spearman’s Rank correlation between performance in Maths and
Computer Science. The scores are given below:
Maths 56 65 72 48 56 .70 68
Computer Science | 76 60 50 75 66 B » |77
If the two regression equations are 4y - 5x -33 = 0 and 20y =9x - 107 =0,
Find:- i. Meanofxandy ii. Correlation coefficient between x and
y.
Stockiest has 20 items in a lot. Out of which 12 are non-defective and 8 are
defective. A customer selects 3 items from the lot. What is the probability
that out of these three items:-

i.  Three items are non-defective _

ii. Two are non-defective and one is defective
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